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D11000687 S2100027
Output Monitor noise with 36  load at output.

W2 was shorted. P4 not shorted so inputs were grounded.
Run mode was activated by shorting header P3.

Instrument Noise Input 1
Instrument Noise Input 2
CH1 AcqSP
CH1 RunSP
CH2 AcqSP
CH2 RunSP
CH3 AcqSP
CH3 RunSP
CH4 AcqSP
CH4 RunSP
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D11000687 S2100027 CH1 Output Monitor Voltage Noise

Instrument Noise Input 1
Zero model in Run mode
Zero model in Acq mode
CH1 AcqSP Now
CH1 AcqSP Before
CH1 RunSP Now
CH1 RunSP Before
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D11000687 S2100027 CH2 Output Monitor Voltage Noise

Instrument Noise Input 2
Zero model in Run mode
Zero model in Acq mode
CH2 AcqSP Now
CH2 AcqSP Before
CH2 RunSP Now
CH2 RunSP Before
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D11000687 S2100027 CH3 Output Monitor Voltage Noise

Instrument Noise Input 1
Zero model in Run mode
Zero model in Acq mode
CH3 AcqSP Now
CH3 AcqSP Before
CH3 RunSP Now
CH3 RunSP Before
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D11000687 S2100027 CH4 Output Monitor Voltage Noise

Instrument Noise Input 2
Zero model in Run mode
Zero model in Acq mode
CH4 AcqSP Now
CH4 AcqSP Before
CH4 RunSP Now
CH4 RunSP Before


